Efficiency vs P,

~0.0%
o
£9.009
>
9.008
o
.007
0]
0.006
0.005
0.004
0.003
0.002
0.001

.................................................

.................................................

.................................................

.................................................

104

Ratio

g N
n i Y
+* T
+
——F
-

1 10 . Gedf’

[[—=— DQN_MmKFt_TTorgmar
mkFit_TTNEWnoMS-genMatch-chi200

mkFit_TToriginal-106
— mkFit TTNEWMS-genMatch-chi200

W

Efficiency vs ¢

o 0.0l
2] :
;1009 ;
(8] .
9.008E
5 :
£).007F
o :
0.006E:




	Contents
	Page 1


